<ulus Name
.aester #2 Review

Work must be shown in order to receive full (extra) credit for problems. (Section in which this was learned
learned are listed in bold italics before each problem)

NO CALCULATOR
3.3 1. Simplify each expression.
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3.2 3. Aradioactive isotope decays at a rate of 3% per ay A scientist has an initial amount of 50g. Write
a model for this situation. Determine approxnnately how many d/ys it will take for half the isotope
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a) log,x+log,(x+8)=2
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NO CALCULATOR
4.2

b) sin (—7—7?)
6

R4
a) cos(T]
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unit cirele as well.

5. Find each exact value (remember reference triangles will help you).

3z
c) tan [7)

= undef.
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4.3 6. Find one positive angle and one negative angle that are coterminal with T
pos . |l
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43 7. Given: sin@=—= and cos >0, find the values of the remaining five trigonometric functions of €.
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4.4 8. State the amplitude, period, phase shift, and vertical shift, and then graph each function. Clearly
label all tick marks on the axes.
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4.4 9. Write an equation of the cosine function with amplitude = 2, period = = , phase shift = -2 and

vertical shift= —3.
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4.4 10. Use the given graph...

b 4 o
= Y-
a) Write a sine function that fits the graph. J Zsin (5( % »H‘{’ 8
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c) Using 1den%s—p1{we that the twu equations you wrote are equal.
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5.1-  Verify that each of the following is an identity. Be sure to show all steps.

5.4 X
12, sin29(cscz9—1)+tan(—@)cost9+cos[£—0j=cosz9 13, M+E-(ﬂ=l
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5.3-  Rewrite using identities, then simplify if possible.
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4.1 20. The wheel (including the tire) of a sports car under development by an auto company has an eleven
inch radius. How many rpm’s (revolutions per minute) does the wheel make at 55 mph?



(=30
4.1  21. Find the measure of the intercepted arc in terms of 7 in a circle with diameter 60 inches and central
angle of 72 S= e o
"2, L = 2__T_r
05 §=2T.30 =| Iz

5.6 22. The angle of depression from the top of a building to a point 55 feet away from the building (on
level ground) is 39°. Determine the height of the building.

. &~ T
\K

S nd® = L X =44.54

55
5.6  23. Find the area of each triangle.
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5.5  24. Solve each triangle. If there are two friangles, solve both! Qcuted AUrosS Shorter = ZAS’
5.6 2 4§ = LAW OF SINES fq , gsA] —

a) A=36",b=13,C=48" b) a=125,4=25b=150
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